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ID NUMBER + H 3 T

I A
2 A
1 B
4 ,::>K B
5** X B
6 A l=<
7 B
8 A >n<
9 A >B<
10 A
lt A B
t2 A c
13 B c
L4 A >K c
15 A B

16 A t;>3( c D

17 A B D

18 A B C

t9 B C D

20 A B c
2l A >E< c D

22 A B D

23 A c D

7d, - A B - D

25 A B C

26 A B C D F

)1 >< B C D E F

2E A B C D E

29 A B C D E G

30 A B D E F G

31 B c D E F' G

32 A B C D B F

33 A >8< C D E F G

34 A B

35 A c
36 B c
37 >< B c

38 >"< B C

39 A B

40 A >B< C
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ID NUMBER

)e-

4
J

1 is in danaer of "l*
2 puf unler inPressiort' tl'wt /
3 must lwre rwrL /

vN

4
/

takes Pride iw
tl
Dc"

f, ha"l not lef L Lo

6

7 blane, voursell fur uning d-t
8

9 Aod L not {sllew d)
10 *]'rere is tw Point
1l have

\)
d

12 suol/v

13

l4
15 beinq
t6 greot(cl

17

18 Suctlq,

19 V
20 bq

2t m isanthrope 31 B C D E F

22 copture 32 A B C D E

23 agele*ate 33 A B C D E

24 rranufaoh*re 34 A C D E F

)\ astronaut 35 A B C D F

26 PaLiologq 36 A B C E F

27- 37 B C D E F

28 ufrupt 38 A B D E F

29 39 A B ..'(.\ D E F

30 e-vacudte 40 A B C D >K F
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